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[Section- A / T’ =14i]

%hoose the correct answer : (¥% TeIqRefered) ¢ 1x20=20
_/(g‘ﬁly even prime number is- (4FNIG Io G AL ) 2

(@)1 (b) 2 ()3 (d) 4
@) Valueofa’is (a°ITNZH)
@0 (b)1 (c)2 (d)a

(ii)) Which of the following is a rational number ?
ST (FINCO! AR AT 2

@32 ®2 ©)
(iv) The valueof /7 lies between which two integers ?

J2 I (I 45! SRS FRE WS A 2

(@) 1 and (&%) 2  (b) 2 and (Ti<) 3

(c) 3and ()4 (d) 0 and (S0=e) 1
(v) Which of the following 1s not a polynomial ?

N NS

(d)mn

69 (6! I29R 1= 2
SI -~ g 1
(a) > (b) 13x%y (C)-g (d) x2 —Jx+3

(vi) Degree of the polynomial - 5x? +2x? + x*- 3 is
- 5x2+ 2x2 + X3 - 3 q2AMCOIS Wdl -
(a) 1 (b)2 (©)3 (d)0
(vii) Polynomial x - a will be a factor of the polynomical p(x) if
X - 2 TZAVCH! p(x) T2 Ab] BLAWE 2 T IMCZ
(@ px)=0 @®)p(-a)=0 (c)p(@)=0 (d)p(x)=p)
(viii) x - 1 is a factor of which one of the following polynomials ?
X - 1, S (FIH0! 92571 @b TSNS ?

@x+1 (b)x2+1 ©@2x+1) (@E*-1)
Contd.






: : ; f:(lX)‘

Whlch of the follomng pomt*hes mthe 4th quadrant ? | ;
O (PIRCD! o b9 (51 SR ? |

@25 BELY ©C4-3) @ ity |
(x) The abscissa of the point (-4, - 3) is

(-4, 3) R 7= | |
(@) =4 6 (b)i- 3 (c)4 (@)- 7898
(xi) How many solution (s) does 2x +3y=6have ?
2x + 3y = 6 I TG {101 2 g
(a) 1 (b)2 (c)4  (d)Infinite (SFIN)

(xii) If one solution of the equation 2x +ay =4 is (2, 1) thenthe
value ofa s
I 2x + ay = 4 FEIEF G5! AL (2, 1) 2 (90T a T MRS
(@) 0 (b) 1 (©4 (d)-4

(xi11) If two lines intersect each other, then the vertically oppos1te
angles are

7 qOIE ([ 27T F01-0 BT, Wﬁﬁﬁﬁm@ﬂ
75! 217724 |
(a) Unequal (SPTI1) (b) Equal (F71) |

(¢) Perpendicular (57%) (d) Parallel (GT1@<1=7)
(xiv) Sum of'the interior angles of a triangle is

oo™ St (SR ANE T
(@) 0° (b) 90° (c) 180° (d) 360°

(xv) Each angle of an equilateral triangle is -
Tz fagea Afets! i st -
(a) 45° (b) 60° (c) 90° (d) 30°
(xvi) In AABC,AB=AC and £ZA=90"then £Bis
AABCIAB=ACI® LA=90°T(s1 Z/BX<
(a) 30° (b) 45° (c) 60° (d)i90%: &
(xvii) In APQR, ZP =50°, £Q = 80° then measure of ZR is
APQR © /P =50°, ZQ = 80°%°¢s1 ZR 3 (&RATT
(a) 30° (b) 40° (c) 50° (d) 60°
(xviii) Ifin parallelogram ABCD, ZA=70° then the measure of £Cis
7fi ABCD H@RFd LA =70° 2 (908 £C (P17 (1473
(a)70°  (b) 80° (c) 90° (d) 110°
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(xD)W 'Ti’s‘ﬂié distanc‘e of the point (- 3, 8) from y-axis ?
(-3 8) faeo, ywwmﬁwm
(xu) Write the equanon of X-axis
X- S TGREH! forad |
Write the co-ordinate of the origin.
e /S 2! & |
(x1v) What is the name of horizontal and vertical lines drawn to
determine the position of any point in the cartesian plane.
161 e 4 7 GBI S e f3te T efie o
TETHOIE SRF T4l (3 FOierq i 2
(xv) Under what condition the line ax + by + ¢ = 0 passes through
the origin.
% 59 ax + by + ¢ = 0 (FTIE 6 [7I WS A 2

(xvi) Write one solution of the equation 2x -y = 4.

2X - y = 4 FARFIHR G5! AL 20 |
(xvii) Express 2y = 3-x in the form ax + by +c¢ = 0. .
' 2y/=3- X F ax + by + ¢ = 0 T2 2 541 | '
iii) In figure, AB|| CD, PQ is a transversal. What is the value of
x +y ? (b@® AB|| CD, PQ (% X0 x + y 3 4 i 2)

.#
:,

Find the reflex angle of 120°, (120“33@13@( (Ga0]
1 figure XY || BC. What is themeasureofAB"
W%@XYIIBC éB'*ﬁ C@Mi’ﬂ? J




are 90°,

(P DG 2ifSTH! 1% T wive =AfRoeBt et 900

(xxv) In AABC, D and E are the mid point of the sides AB and AC.
If BC =20 cm then what is the value of DE ?

AABC 3 DWi% ES AB W% AC I3/ 13 BC = 20 = s
2R (S1% DE 399 fFq 9

[Section- B /4" i)

3 rite all integers between - 5 and 5 with the help of number line. 2
TR (TN ARG - 5 IF 5 S TS WS TR B2 |

P
4, ~Express () 54 inthe form E’ ; ' ‘ 2

054 % f’ SiEuk e TR o gar Sk
Tn which quadrant or on which axis do cach of the poin

(24,0, 1,6 1,0,(3,- HEE S0 LA 0 gg
 C2.4.6,-1,¢ 1,0),(-3,- 5) @Refem
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.t’? Tr ‘i’t P‘T{J‘;.!L 10/ eiit"-l.:
i S 00 L B MR 902 s o

W that (25014 <541 (), e 3]

1 b Lo =i !

G S P | |
9. Locate /5 onthe number line. 3

MY @A /5 T SREH e 1 | ‘
10. fx+y+z= 0 then prove that x* +y? + 7* = 3xyz. 3
M x+y+z= ommmqwmxuwa 3xyz :
“Plot the points (5, 0, (0, 5), (2, 4), (-3, 3), (-4, 2) and (1, -4) in
the cartesian plane. 3
ST AweTS (5, 0), (0 5),(24)5(=3,3), (-4,2) =% (1,-4)
(PR SRZ (M |
12. Draw the graph of the linear equation x - y=2. N S
 X-y =2 (SR TG A S 4

figure if AB || CD, EF L CD and ZGED =126° the ﬁnd
AAGE £GEF and ZFGE. | Sl
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4|
1 ve that the diagonals of a parallelogram bisect each other. "4
(R AN 31 {615 a7 Fafzefee 22|
18, Piivide the polynomial 3x* - 4x° - 3x - 1 byx-1 4

3x‘-4x3-3x-1Wx-la:~a‘=1w:




